—taff
STH75E WHEFH
GEMESR)

<BRXR>

B SH6F EMIEFHE GEM)
BREHRER
—REFHETFERR
mAL . Bl

. 2.

3

— TSR LR




TH7TEEREFRE GEMER)
OFM7EE—RIFFHFEFE

B PETE, hEDOERCIERAR. EXEREGCERRIGANLINEEL
TG EHRGEELEFT LOXERFORR RIEEVSHEDHISMOHE
EZ— KRBT >TL0, @B T A5 OKYEHEET ST EFIIER
HEBEXIFRIBERAZHELELL,

BRAFPRIE. LEEEXOMREGDZAEEIREAMIEL(EH ., AIFEERB
ETHRARHHGEZERVET,

1. SRFHEER

(Bfr:FM)
2 EHE A Ll

LY THEAE RN TESE| W |(HEATHE| SEHERHR
— % E- £t| 10,470,000 10,470,000 9,540 10,479,540 1
CIERRERRKREE 212000 212000 o 212,000 -
% B e EHEER 75,800 75,800 0 75,800 -
HAlREtDO &G 287,800 287,800 0 287,800 -
KO EE 10,757,800, 10,757,800 9,540 10,767,340 -




2—1. —RREWMANR
(BB FH)
X % WA FELE| WHERE |(HEkTHSE w #&

01 HT fi| 1,144,001 0| 1,144,001
02 A E &5 # 61,230 0 61,230
B3F F & X #F = 200 0 200
048 & & X F = 2,000 0 2,000
05 X FFEMBFIRMFE 1,600 0 1,600
BEAFEEBHRXMTE 11,000 0 11,000
073 5 HE B X & 132,000 0 132,000
BIILIGFARITE 3,000 0 3,000
09IR 15 4 6 &l X fF & 5,000 0 5,000
0 A B 6l X F € 2,000 0 2,000
"M B x f  H| 2550000 0| 2,550,000
12 XBREXN KRB/ TR 600 0 600
BREERUVERESR 28,408 0 28,408
HERNRUYTFHHM 173,337 0 173,337
BE E X H % 812,206 0 812,206
16 & 2 H & 259,741 0 259,741
17 Bf E Y A 29,733 0 29,733
18 & B & 114,372 0 114,372
19 #& A & 658,608 0 658,608
20 & 7 % 50,000 1,540 51,540 |84 EEARHE 1,540 (% A B i 1916)
21 5% Iz A 344,664 8,000 352,664 | aIEMXIEE L I EE£ILAS000
22 fT f&| 4,086,300 0| 4,086,300

H 10,470,000 9,540 10,479,540




2—2. —iEEEmHEHAR
(BHr:FH)
X & Bt 5% tHIFEE |WIEkTHEE g &
01 & = & 46,919 0 46,919
02 # 7% #| 3,898,822 0 3,898,822
EEXIERGIBEEEERAN
03 K £ - 690,134 9,540 699,674 8,000&&%f£ﬁi£éﬁ#ﬂ$1,540
04 f 4 & 644,785 0 644,785
05 & =y 2,121 0 2,121
062 M K E % & 255,353 0 255,353
07 T & 365,594 0 365,594
08 PN #|l 1,477,793 0| 1,477,793
09 3] & 202,397 0 202,397
10 # B | 2164524 0| 2,164,524
nmK £ & 1B =% 1,000 0 1,000
12 2 & & 717,558 0 717,558
13 % s & 3,000 0 3,000
&t 10,470,000 9,540 10,479,540
2—3. —IRSHEEFEOREA
(BH1:FH)
BmA [ Aan
- FEURA 8,000 -fEttEZE 9,540
-AENTESE-FESEENA A ERERHEESEREN
-RELEBESAIES
-fEE 1,540
=t 9,540 g 9,540




